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DETAILED EXPL ANATIONS

1 .1 .1 .1 .1 . (c)(c)(c)(c)(c)

Liquid B

+ +

P1 P2

x

h

X ′X

Liquid A

Taking point X and X ′ and equating the pressure on both sides

P1 + (h + x) × 0.88 × 9.81 × 103 = P2 + x × 0.88 × 9.81 × 103 + h × 2.95 × 9.81 × 103

⇒ P1 + h × 0.88 × 9.81 × 103 + x × 0.88 × 9.81 = x × 0.88 × 9.81 + P2 + h × 2.95 × 9.81 × 103

⇒ P1 – P2 = h(2.95 × 9.81 – 0.88 × 9.81) × 103

860 = h(2.3067 × 103)

42.35 × 10–3 = h

h = 42.35 mm

2 .2 .2 .2 .2 . (b)(b)(b)(b)(b)

For geometrically similar model and prototype

3 5
model

P
N D

 
  

= 3 5
prototype

P
N D

 
  

Given, Nm = Np

⇒
3 5

m

m m

P

N D
= 3 5

p

p

p

P
N D

m

p

P
P

=
3 5

3 5
m m

p p

N D
N D

m

p

P
P

=
3 3 5

3 5 5

2

16
p m

p m

N D
N D

×

Pm =
6 3

5
10 10 2

16
W× ×

 = 76.29 W

3 .3 .3 .3 .3 . (a)(a)(a)(a)(a)

PA – H × 9.81 × 1 – 0.18 × 9.81 × 0.827 = PB – 13.6 × 9.81 × (H + 0.53)

– H × 9.81 – 1.4603 = 97 – 13.6 × 9.81 × H – 13.6 × 9.81 × 0.53

⇒ H = 0.2245 m

∴ H = 22.45 cm
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4 .4 .4 .4 .4 . (c)(c)(c)(c)(c)

∴ V =
2

4

Q Q
A d

=
π ⇒ 

9

2 2 6

4 4 880 10
4.48m/s

0.50 10

Q

d

−

−
× ×= =

π π × ×

We know, Q =
4

128
pD

L
π ∆

µ

⇒ µ =
4

128
pD
Q L

π ∆
 = 

6 4 12

9

10 (0.5) 10

128 880 10 1

−

−
π × × ×

× × ×

µ = 1.74 × 10–3

5 .5 .5 .5 .5 . (c)(c)(c)(c)(c)

Newton’s law of viscosity

τ =
du
dy

µ

Where τ = shear stress

du
dy

= Rate of strain

6 .6 .6 .6 .6 . (c)(c)(c)(c)(c)

τA = mg sinθ

v
A

t
 µ    = mgsinθ

v =
sinmgt
A

θ
µ

 = 
3

2

15 9.81 0.1 10 sin30

8.14 10 0.25

−

−
× × × × °

× ×
 = 0.36 m/s

7 .7 .7 .7 .7 . (c)(c)(c)(c)(c)

8 .8 .8 .8 .8 . (c)(c)(c)(c)(c)

u = 2 2 9.81 20gh = × ×  = 19.81 m/s

1

220 m
g

10 m

v2 – u2 = 2as (a = – g)

v2 – 19.812 = – 2 × 9.81× 10

or v = 14 m/s

A1v1 = A2v2

D2
2 =

212 19.81
14
×

 or D2 = 14.27 cm

9 .9 .9 .9 .9 . (b)(b)(b)(b)(b)
Surface tension is due to cohesion between liquid particles at the surface.



© Copyright : www.madeeasy.in

9• Fluid MechanicsCT-2023-24 ME

10.10.10.10.10. (d)(d)(d)(d)(d)

P = ρHg × g × H

6.8 × 104 = 13.6 × 103 × 9.81 × H

HHg = 0.5096 m

Hwater =
13.6 0.5096

1
×

Hwater = 6.931 m

11.11.11.11.11. (b)(b)(b)(b)(b)

For just equilbrium condition,

[ cos ]mV θ� = µMg

1000 × π × 0.25 × 0.052 × V2 × 0.5 = 0.55 × M × 9.81

1000 × π × 0.25 × 0.052 × 2 × 9.81 × 2 × 0.5 = 0.55 × M × 9.81

⇒ = 7.1399 kg

12.12.12.12.12. (d)(d)(d)(d)(d)

Volume of cube = a3

a 3 = 125 × 10–3 × 10–3 m3

⇒ a = 5 × 10–2

⇒ a = 0.05 m

F = p × A

Pbottom = patm + h1g ρoil + h2ρwater g

= 101325 + 0.5 ×  0.8 ×  1000 × 9.81 + 0.3 × 1000 × 9.81

Pbottom = 108192

F = Pbottom × A = 108192 × 0.052  = 270.48 N

T = Upthrust – W

= 125 × 10–6 × 1000 × 9.81 – 125 × 10–6 × 0.77 × 1000 × 9.81

= 0.282 N

13.13.13.13.13. (c)(c)(c)(c)(c)

u =
y

∂ψ
∂

u = 2x2 + (x + t) 2y.

∴ for face OB, x ⇒ 0

uOB = 2t y

Discharge through AB

∴ QAB =

2 2

0 0
·5 2 ·5OBu dy ty dy=∫ ∫

At t = 1
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QOB = 20 units

∴ V = 24 y y
∂ψ  − = − + ∂

x
x

At y = 0

V = 0

∴ QAO = 0

∴ QAB = QOB + QOA

= 20 + 0

= 20 units

14.14.14.14.14. (d)(d)(d)(d)(d)

V2 =
6

22

1.13 10
1 m/s

(0.0012)
4

Q
A

−×=
π ×

�

2
1 1 1

12
P V

z
g g

α+ +
ρ

=
2

2 2
2 22 f

P V
z h

g g
+ α + +

ρ

hf =
2

2 2
1 2 2

V
z z

g
α

− −

⇒ hf =
2(2)(1)

0.6 0
2 9.81

− −
×

 = 0.5 m

hf = 2

32 VL

gD

µ
ρ

⇒ 0.5 =
32 0.3 1
9000 0.0012

× µ × ×
×

⇒ µ = 6.75 × 10–4 Pa-s

15.15.15.15.15. (c)(c)(c)(c)(c)

v =
2

2

4 4
D r

 β − µ  

/2r D

v
r =

δ
δ

= ( )
/2

2
4 r D

r
=

β −
µ

 = 
/22 r D

r

=

β−
µ

 = 
2 2

r Dβ−
µ

 = 
4

D−β
µ

τ =
/2 4r D

v D
r =

δ β−µ =
δ

16.16.16.16.16. (b)(b)(b)(b)(b)

ReL =====
UL
v

 =  =  =  =  = 5

1.75 5

1.475 10

×
×

ReL = 5.932 × 105

Cf =
1/5

0.074

ReL

 = 
5 1/5

0.074

(5.932 10 )×
 = 5.183 × 10–3
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Drag force on one side of the plate,

Fd = 21
area

2fC U× × ρ

=
2

3 (1.75)5.183 10 (1.8 5) 1.22
2

−× × × × ×

Fd = 0.0871 N

17.17.17.17.17. (d)(d)(d)(d)(d)

∵  Continuity equation holds,

∴ 2(5) 2
4
π × × = 23

4
π × × x

x = 5.55 m/s
Mars flow rate

⇒ m� = 1 1
m

AV∫
�

 = 2100 0.05 2
4
π× × ×  = 3.9269 kg/s

Let fx and fy be the force in Right and vertically upward diversion respectively to hold the box in position.
∴ Now, Σfx = 0 [Box is stationary after applying force]

1cos65m V f− × ° + x� = 2 cos0m V− × °�

–3.9269 × 2 × cos 65° + fx = –3.9269 × 5.55 × 1
fx = –18.475 N.

fx must be in left as fx comes out to be negative.
Similarly for vertical direction Σfy = 0

fy – 3.9269 × 2 × sin 65° = 0
fy = 7.11 N

∴ It is towards vertically upward direction.

18.18.18.18.18. (d)(d)(d)(d)(d)

Q =
( )1 2

2 2
2

1

2

1

p p
a

a
a

−
   ρ −     

for a venturimeter

∴ p1 – p2 =

2
2 2

1

2
2

1

2

aQ
a

a

   ρ −     

=
2 4

2 4
2

0.05 850 0.06
1

0.1
2 0.06

4

 × −  π ×   

 = 1.16 × 105 N/m2

= 116 kPa
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19.19.19.19.19. (b)(b)(b)(b)(b)

Hm =
2 2 2

1.3
2 2 2

d d dfLV V V
H

gd g g
+ + × +

Hm = Net head required

Hm =
2 2 24

30 1.3
2 2 2

d d df LV V V
gd g g
′+ + × +

f ′ = 0.02 AdVd = 50 × 10–3 m3/s

d = 200 mm

20.2
4 dVπ × × = 50 × 10–3

Vd = 1.59 m/s

⇒ Hm =
2 2 24 0.02 100 1.59 1.3 1.59 1.5930

2 9.81 0.2 2 9.81 2 9.81
× × × ×+ + +

× × × ×

= 35.45 m

⇒ Power = ρQg Hm = 17388.225 W = 17.388 kW

20.20.20.20.20. (d)(d)(d)(d)(d)

τ1 = shear stress at bottom

µ2

µ1
x V

a x – 

= 1
V
x

µ ×

τ2 = shear stress at top = 2
V
a x

µ
−

drag force = (τ1 + τ2) × A = FD

= FD = 1 2V VA
x a x

µ µ × + − 

DdF
dx = 0 = 1 2

2 2( )
V V

x a x
−µ µ

+
−

 ⇒ 1 2
2 2( )x a x

µ µ
=

−

a – x =
2

1
xµ

µ

⇒
1

1 2

a µ
µ + µ = x

21.21.21.21.21. (b)(b)(b)(b)(b)
Given data:
Stream function,

ψ = x2 – y2

The velocity components u and v in the direction of x and y are given by

u = ( )2 2 2
∂ψ ∂

− = − − =
∂ ∂

x y y
y y
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or v = ( )2 2 2
∂ψ ∂

= − =
∂ ∂

x x
x x

y

The velocity at point (1, 1),
�
V = ˆˆ +iu vj  = ˆˆ2 2+i xy j

= ˆˆ2 1 2 1× + ×i j  = ˆˆ2 2+i j
The magnitude of the velocity,

V = ( ) ( )2 22 2 4 4 8+ = + =  = 2 2

22.22.22.22.22. (a)(a)(a)(a)(a)

(1) u = x2 cosy
v = –2x sin y

Continuity equation

u y
y

∂ ∂
+

∂ ∂x = 0

= ( ) ( )2 cos 2 sinu y y
x y

∂ ∂+ −
∂ ∂

x x

(2x)cos y – (2x)cosy = 0
hence satisfy the continuity equation.
(2) u = x +  2

v = 1 – y
Continuity equation

u y
y

∂ ∂
+

∂ ∂x = 0

= ( ) ( )2 1 y
y

∂ ∂
+ + −

∂ ∂
x

x
= 1 – 1 = 0

hence satisfy the continuity equation.
(3) u = xyt

v = 3 2

2
t

y−x

Continuity equation
u v
x y

∂ ∂
+

∂ ∂
= 0

= ( )
2

3

2
y t

yt
y

 ∂ ∂+ − ∂ ∂  
x x

x
 = yt – yt = 0

(4) u = ln(x + y)

v =
y

y −x
x

Continuity equation

u v
y

∂ ∂
+

∂ ∂x
= 0

= ( ) y
n y y

y
∂ ∂  + + −  ∂ ∂
l x x
x x

= 
1 1

0
y

+ − ≠
+

x
x x

Hence, does not satisfy continuity equation.
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23.23.23.23.23. (a)(a)(a)(a)(a)

Pressure head =
319.62 10

2.5m of oil
1000 9.81 0.8

p
g

×
= =

ρ × ×

Velocity head =
2 2 2

2 2
2

(0.12)
0.3 m of oil

2 2
2 0.25 9.81

4

V Q
g A g

= = =
π × × ×  

Datum head = 2.7 m

Total head = Pressure head + Velocity head + Datum head

= 2.5 + 0.3 + 2.7 = 5.5 m

24.24.24.24.24. (a)(a)(a)(a)(a)

1.2 m

0.6 m

r

0.6 m

Original volume of
Cylinder = πr2h

V1 = πr2 × 1.2
Volume of liquid spilled out

=
1
2

 πr2 × h

V2 =
1
2

 πr2 × 0.6

∴ 2

1

V
V

=

2

2

1
0.6 12

41.2

r

r

× π
=

π ×

25.25.25.25.25. (b)(b)(b)(b)(b)

V1A1 = V2A2

( )25 0.1
4
π× = ( )2

2 0.05
4

V π×

⇒ V2 = 20 m/s

50 mm

Nozzle

100 mm

Pipe
1

1

2

2
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From force balance in x-diagram

P1A1 + Rx – P2A2 = ρQ(V2 – V1)

⇒ Rx = ρQ(V2 – V1) + P2A2 – P1A1

= ( ) ( ) ( ) ( )2 23 3 21000 0.1 5 20 5 100 10 0.05 500 10 0.14 4 4
π π π× × − + × × − × ×

Force required to hold the nozzle,  Rx = – 3141.6 N

26.26.26.26.26. (c)(c)(c)(c)(c)

From force balance at point of contact,

θσ3

Solid

σ2

Liquid

σ1
Air

σ1cos(180 – θ) + σ3 = σ2

or cos(180 – θ) =
2 3

1

σ − σ
σ  = – cosθ

∴ σ1 = 0.0720 N/m (liquid and air)

σ2 = 0.0418 N/m (liquid and solid)

σ3 = 0.0008 N/m (air and solid)

cosθ =
0.0008 0.0418

0.072
−

 = – 0.56944

θ = 124.7°

27.27.27.27.27. (b)(b)(b)(b)(b)

∴ Re =
16 16

400
0.04f

= =

∴ The flow is viscous.

The shear stress in case of viscous flow through a pipe is given by

τ =
2

p r−∂  
  ∂x

∴ 
p∂

∂x
 is constant across a section.

∴ τ ∝ r

∴
r
τ

= 0 00.00981
40 100R

τ τ
= =

∴ τ0 = 2100 0.00981
0.0245 N / cm

40
× =
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28.28.28.28.28. (c)(c)(c)(c)(c)

25 cm50 cm

25 cm

N rpm

1

2

0

1P
gρ

2
1

12
V

Z
g

− + =

0

2P
gρ

2
2

22
V

Z
g

− +

Z1 – Z2 =
2 2

1 2

2 2
V V

g g
−

0.25 = { }2 2 2 2
1 2

1
2

r r
g

ω − ω

0.25 × 2 × 9.81 =
2 2

2 50 25
100 100

     ω −         

ω = 5.115 rad/s

N =
60 60 5.515
2 2

ω ×=
π × π

= 48.8 rpm

29.29.29.29.29. (a)(a)(a)(a)(a)

ReL ≤ 2000

⇒
VDρ
µ ≤ 2000

⇒
2

1

(0.92 1000) (10 10 )

0.9 10

Q
A

−

−

× × × ×

×
 ≤ 2000

⇒ Q ≤
1

2

2000 0.9 10

(0.92 1000) (10 10 )

A−

−
× × ×

× × ×

⇒ Q ≤ { }2101.95652
4 100
π× ×

⇒ Q ≤ 0.015366 m3/s

⇒ Q ≤ 15.36 � 15.4 L /s

30.30.30.30.30. (c)(c)(c)(c)(c)

f =
64
Re

Re = 5

0.1 0.1
1000

10

UD
−

×= =
ν

f =
64

0.064
1000

=


